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Q.1. My lawn (1)) which s
overgrown (2)/ need weeding (3)/

No error (4)

Quiz0

Answer: (3)Replace need with
needs.
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Q.2. The General Manager of the
industry has felt (A)/ that there is no
use of (B)/ discussing about the
problems with the labourers. (C

error (D)

Answer: (c) Here, discussing the problems
with the labourers is the right usage.
Here, the use of about is superfluous.
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Q.3. The officer has (1)/ given
orders to his (2)/ soldiers

yesterday. (3)/ No error (4)

Answer: (a) The sentence shows Past
time. Hence, Past Perfecti.e., The
officer had is the right usage.
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Q.4. 1) The process of / 2) revising
figures of damage / 3) to get additional

compensation / 4) has began.

Answer: (d)
Replace “ began” with
“begun”
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Q5. We must go (1) / and
congratulate him for (2)/ his brilliant

success. (3) / No error (4)

Answer: (b) It is a Preposition related
error. Hence, and congratulate
him on is the right usage.
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Q.6. If you turn the corner, (A)/ you
will found a house (B)/ built of stone.

(C)/ No error (D)

Answer: (b) Found = establish
Hence, you will find (get) a house ....
should be used.



SSC CPO/CHSL/CGL TIER 11 2023

1000 QUESTION SERIES

Q.7. Every member of the committee (1)/
have been present (2)/ at all the

meetings. (3)/ No error (4)

Answer:. (b) Here, Every member .... is a
singular subject.
Hence, has been present should be used.
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8.1 reached (A)/ the office
before (B)/ the rain started.

(C)/ No error (D)

Answer: (a) When both events happen in

the past, the event that happens
earlier should be expressed in Past
Perfect. Hence, | had reached is the
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9.Rama has (1)/ no taste (2)/ in
classical music. (3)/ No error

(4)

Answer: (c) It is preposition related error.
Hence, for classical music is the
right usage.
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10. Now that | am back at work, (1)/ |
have beginning (2)/ to feel much

better. (3)/ No error (4)

Answer. (b) Here, Present
Perfect i.e., | have begun
(V3) is the right usage.
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11. The government has announced
1)/ plans to creating 2)/ one million

new 3)/ training places. 4)

Answer: (b)
Replace ‘ creating’ with
create’
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12. Many people die (A)/ with
cholera (B)/ every year. (C)/ No

error (D)

Answer. (b) It is a preposition
related error. Hence, of
cholera .... should be used.
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13. His father forbade him about

entering politics.
a) to
b) from
C) on
d) No improvement
Answer:. (a) The ‘forbid’ agrees with

‘from’. Therefore replace the bold
part with ‘from’.
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14. As | was new to the place,

| felt like a fish in water.
a) felt like a fish in the water.
b) felt like a fish with water.
c) felt like a fish out of water.
d) No improvement

c) felt like a fish out of
water.
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15. He asked me if | will accept
his conditions if he helped me.

a) if | would accept
b) that if | will accept
c) that if | would accept

d) if would | be accepting g

a) if | would accept
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16. The famous dancer died on

Mumbai recently.
a) owing to Mumbai recently.
b) from Mumbai recently.
c) in Mumbai recently.
d) on Mumbai at recent.

Answer. (c) For a bigger
place we use ‘in’. Hence
(c) is correct.
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17. It is time you start earning your

own living.
a) may start
b) started .
c) would start )i e
d) No improvement

Answer:. (B) After ‘It is time' the verb
takes its V2 form. Therefore, it
should be ‘started’ in place of ‘start’.
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18. He backed out of the
agreement.

a) gave his full support

b) reconsidered the point

c) withdrew his support fro'

vis

d) went through the bE&C

door

c) withdrew his support
from
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19. | have received your letter

yesterday.
a) received
b) had received
c) have to receive
d) No improvement

a) received



SSC CPO/CHSL/CGL TIER 11 2023

1000 QUESTION SERIES

20. Neither any of the members of the
society nor the Chairman were
present for the annual meeting.

a) has been present for
b) have been present
c) was present for

d) were present at

c) was present for
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21. His shoes to cover with

mud.
a) was covered
b) were covered
C) were covering
d) No improvement

Ans. b) were covered
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22. He is the poorest of the two

workers.
a) the poorer of
b) the poorest between
c) poorest of
d) No improvement

Ans. a) the poorer of
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23. He said, “How can a Zebra talk?”

a) He questioned a Zebra talking.

b) He asked how a Zebra could talk.

c) He was amazed how a Zebra can talk.
d) He wondered how a Zebra talks.

Ans. b) He asked how a Zebra
could talk.
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24. | said to you, “l can not be blamed for this.”

a) | told you that | could not be blamed for that.

b) | said you that | can not be blamed for this.

c) | said to you that | can not be blamed for this.
d) | told you that you could not be blamed for that.

Ans. a) | told you that | could not be
blamed for that.
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25. The guide suggested, “Let’'s rest here for a
while.”

a) The guide suggested that we rest there.

b) The guide suggested we should rest for a while.

c) The guide suggested resting for a while there.

d) The guide suggested that we should rest there

for a while.

Ans. d) The guide suggested that we
should rest there for a while.
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26. He said that she was coming that year.
a) He said, “She is coming this year.”

b) He said, “Come this year.”

c) He said, “She was coming that year.”

d) He said, “She will come this year.”

Ans. a) He said, “She is coming this year.”
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27. The boss said, “Please give me the latest
reports.”

a) The boss wanted to please the latest reports.

b) The boss wanted the latest reports, please.

c) The boss requested for the latest reports.

d) The boss said to please give the Ilatest
reports.

Ans. c¢) The boss requested for the
latest reports.
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28. She said, “I've been in this school since 1998.”

a) She said that she have been in this school since 1998.
b) She said that she was in this school since 1998.

c) She said that she was being in that school since 1998.
d) She said that she had been in that school since 1998.

Ans. d) She said that she had been in that school
since 1998.
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29. “What did you eat last night?” asked my mother.

a) My mother asked me what | had eaten the previous night.
b) My mother said what did you eat last night.

c) My mother questioned me what | ate last night.

d) My mother said to me what did | eat last night.

Ans. a) My mother asked me what | had eaten
the previous night.
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30. He said, “I| am writing a poem."
a) He said that the poem is being written.
b) He said that he was writing a poem.
c) He said that he is writing a poem.
d) He said that | am writing a poem.

Ans. b) He said that he was writing
a poem.
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[ Home Work 7

He said, “We have done our
work."

a) He said that they had done
their work.

b) He said that they should do
their work.

c) He said that they have done

Ll = e & s .
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D Home Work 7

Sunrise s a great
phenomena.

(a) Phenomenon

(b) Phenomenons

(c) Phenomenas

(d) No improvement
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